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@75 4. 840 4. 840 0.160 1
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F4E+ | m3 ] 0100 14.30] 0.100 0.59 14.89 15
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t—0T454 Y= H 827 m
EHRT-7
W=50mm 827 m
HEKEERT
86.2 m

39




£ W
Rk T3k CREE CRE
£ T
1
BTiEAs @ 50LLF H=0.90 1.4 1.4 m
4
BTiEAs @ 50LLF H=0.60 1.0+10.8+2.1+2.4+63.5 798 m
9
BT3EGr ¢ 50LLF H=0.60 3.2+2.0 5.2 m
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UEHRE 650 PEROMNESE

noE L 2 B R = BREE | BEE | £ 4
¢ 50 2.200 0. 500 0.500 0.740 0. 400 0.400 4. 740 0.260 1
¢ 50 0.500 3. 890 0.560 4,950 0. 050 1
¢ 50 0.500 0. 500 0.500 0.620 1.220 0.32 3.660 1. 340 1
BE 5 [1+12 134 65. 000 13
it 3 78. 350 1. 650 16
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T TEEHFE

1 L=1.4m 4 L=79.8m 9 L=5.2m
g ﬂ'\ ﬁg:{kvj-;f iﬁ'z W=0.50m,H=0.90m | W=0.50m,H=0.60m | W=0.50m,H=0.60m £ E&E‘I’ :]:rﬁ =
gpmyl # B |gpmy| B 2o (weny| H B (s B |#sy B |#hsy =
As
SELIMT t=106m=ET| m [ 2.000 2.80] 2.000 159.60 162.40 162
Co
SHEYIBT  [t=10mET| m
As
SERELT t=5cm m2 | 0500 0.70| 0.500 39.90 40.60 41
As
SERUELT t=4cm m2
Co
SERELT t=10cm | m2
HEWIEE T m3 | 0505 0.71] 0.355 28.33] 0.380 1.98 31.02 31
AAEEIT m3
AAERBHLT m2 | 0.500 0.7] 0.500 39.9] 0.500 2.60 43.20 43
BE
2R T 9799%=3v | m3 | 0.075 0.11] 0.075 5.99 6.10 6
FE+ | m3 | 0250 0.35| 0.100 7.98] 0.250 1.30 9.63 10
i) m3 [ 0.127 0.18] 0.127 10.13] 0.127 0.66 10.97 11
As
RRAET m3 | 0.025 0.04] 0.025 2.00 7.04 2
Co
FERANET m3
HTUNET m3 | 0.255 0.36] 0.255 20.35] 0.130 0.68 21.39 21
ZHiAs
SHEREIEHT t=50m m2
Con
SHEEIET t=10cm m2
ZHiAs
SHEREET t=4cm m2 | 0.500 0.7] 0500 39.9 40.60 41
RIERRT
WEET t=11cm | m2 [ 0500 0.70] 0500 39.90 40.60 41
RIERRT
%ﬁ; t=15cm m2
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TE4

VLP-VD 50A A]JI|t&BrTE

RELER

VLP-VD 50A L=

6.4m

% FR
2 VN 5

g M

VLP-VDEZJLSA= T s

4.47+0.57+0.57+0.40+0.40

6.410

6.4 m

50A
BRANF

¢ 50 x 45°

420

MR ZE R FF

1 E

®13
ERFAYEFILANER

¢ 50x20

13
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% FR

ok -~ti& & =1 =® H =
5B
WMEREMTT
50A YLi=  6.410 6.4 m
WETIT F A1 N B
50A 50
BRERERTT
¢ 50 4x2 8 O
ERFFET
$13 1 &
HSEILANRERfTT
¢ 50 X 20 10
BEET
®50 53 m
avol)—kIT
18-8-40 (04X 0.4-0.064"2%3.14/4) x0.70 X 2 =0.220 0.2 m3
T
N 0.4 X 1.40 X 2+(0.4 X 0.4-0.064"2 X 3.14/4. =1.280 1Tm
MaERT
RC-40 t=15cm 0.4%1.40 =0.560 0.6 m2
AERELT
0.3%X0.3X0.15X%2 =0.027 0.03 m3
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ITE4 PP ¢ 30, HIVP(TS)Mth AERE/KEMRIE
BREER
HIVP(TS) ¢ 40 L= 0.4+0.5 = 0.9m
PP ¢ 30 L= = 345m
HIVP(TS) ¢ 25 L= = 1.7m
% R
Fodk -~k B =1 Fa B =
g #
HIVP(TS) WBIRIEE —LE
40 X 4.0m Li= 0.900 1K
HIVP(TS) BBIRIEE—ILE
25 X 4.0m L3= 1.670 1K
PPERE 11 ERUIFLUE KERA2ZBE
¢ 30 L2= 34500 345 m
TSHIT)LAR
b 25 % 90° 2 3
TSHLEE Vv
¢ 50 X 40 13
TSHLEE Vv
¢ 50 X 25 13
FLybg—iaqArk
©$40 13
FLybg—iaqArk
b 25 13
PPI LR
$30x90° 2 3
PPF—X
$30%20 27
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% FR

2 VN 5 = =
PPY4 vk (A1)
¢® 30 4 0
PP#:F (4 1EJK42F)
¢® 30 13
B LIS
30 2 5
SIKEFEFYEIL
$75% ¢ 30 13
ARE G2
D24§k= 1T 2 3
TFIHFARVIX
25C30 2 3
57
60 2 8
TSHIF—X
¢ 40 %20 1 {&
MCa=#A>
b 40 1 {&
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% FR

Ak - <Tik =x B =x
5B
EEEREMAT
¢ 40 YLi=  0.900 0.9 m
EEEREMAT
b 25 YL3= 1.670 1.7 m
RY)IFLUBIERT
® 30 YL2= 34500 345 m
BEEERFT
TS ¢50 2 O
BEEERFT
TS ¢40 70
BEEERFT
TS ¢25 70
RUIFLUBHET
® 30 13 O
RUIFLUBHET
¢ 20 2 O
TUIHFZRET
30 2 K
PER& KigER(+T
¢ 75 %30 10
HPFARVIX
H=600 (&=500) 2 BT
EHRT-7
W=50mm 371 m
HEKEERT
371 m
BEEERFT
TS ¢20 10
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£ o
ok -~ti& H =® H H =1 =®
+ T
1
BTi8As ¢50LLF H=0.90 14404 1.8 m
4
BT:8As ¢50LLTF H=0.60 345 345 m
4-1
BT:&As ¢50LLT H=0.60 05 m
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TTHEHE

1

L=1.8m

4  1=345m

4-1

L=0.5m

£ 5 Rk <tk | B W=0.50m,H=0.90m| W=0.50m,H=0.60m| W=0.50m,H=0.40m e g =
Emay| ¥ = |Eayy| #H 2 |(Eauy] B} = |y 2 |EmLy 2 |EmLy 2 |Emyy =2
As
SRIEYIBT [=10emET] m | 2.000 3.60 2.000 $9.00| 2.000 1.00 73.60 74
Co
SHEELNEN T | t=10emET| m
As
SEIIELT t=5¢m m2 | 0.500 0.90| 0.500 17.25] 0.500 0.25 18.40 18
As
SETUELT t=4cm m2
Co
SEIIELT t=10cm | m2
IR T m3 | 0505 0.91| 0.355 12.25| 0.255 0.13 13.29 13
ADEEIT m3
AFAKRBLT m2 | 0500 0.9 0.500 17.25] 0.500 0.25 18.40 18
B4E
HE I 9399%=3v | m3 | 0075 0.14| 0.075 2.59] 0.075 0.04 2.77 3
F4E+ | m3 | 0250 0.45| 0.100 3.45 3.90 4
i m3 | 0.127 0.23| 0.127 4.38] 0.127 0.06 467 5
As
RIRET m3 | 0025 0.05| 0.025 0.86| 0.025 0.01 0.92 1
Co
RHNET m3
FREITET m3 | 0.255 0.46| 0.255 8.80] 0.255 0.13 9.39 9
FHIAs
SERERT t=5¢m m2
Con
SEEIHT t=10cm | m2
FHIAs
HEREHT t=4cm m2 | 0.500 0.9 0.500 17.25] 0.500 0.25 18.40 18
HIFARER
BRAET t=11cm | m2 | 0.500 0.90| 0.500 17.25] 0.500 0.25 18.40 18
HIFARER
%%I t=15cm m2
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TE4

ARFCHXKIEERIETE

EELER

T XE O N=

25

% o
AR -~TiE

' #

FCOE #h B OH k42

$75% 65

2 5

wEsH

& 75 X 150H

2 5

ISV FM

¢ 15

B:N SUS

4 #

HARAEE

35 X 4585 =+

23

HAIEE

HOC

23

HAREE

25780

23
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% h
FdK -t ik

5 B

HRIERET

2 5

T XE O
I5UMFT

2 A

E
HKAEES=ET

2 #fT

H=0.60m(}&=400)
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AERKIE H = FH BB =
B % A—i— PP H RSk |Pra-abkigm| PPA RS |TSHIVA YR PPI LR [E#EIEKBEEBRARYSA 2Kk o o

o ¢ 20 PEF-¢DXx20 ¢ 20 ¢ 20 $13 ¢ 20 $20%13 P13 4-As-0.6m| 4-As—0.4m|5-Con—0.6m| 10-Con-0.3m| 11-Gr—0.3m
4 D=50mm

613 440 i 2 2 i 2 i i i 2.50 1.60
5) D=75mm

613 12.30 1 2 2 i 2 i i i 3.50 8.50
6 D=75mm

613 27.60 i 2 2 i 2 i i i 2.80 24.50
7 D=75mm SGP-3.30m

613 21.20 1 2 2 1 2 i i i 2.30 15.30
8 D=75mm

613 17.10 1 2 2 i 2 i i i 0.80 16.00
9 D=75mm

613 3.60 i 2 2 i 2 i i i 0.80 2.50
10

613 4.80 i 2 i 2 i i i 1.80 2.70
11

613 14.80 i 2 i 2 i i i 1.00 13.50
12 D=75mm SGP-0.90m

613 21.20 1 2 2 1 2 i i i 1.00 19.00
13

613 5.80 i i i i i i 5.80
14

613 24.10 1 2 1 2 1 1 1 2.00 22.10

13 SGP-4.20m

& 156.90m 63 183 200 113 213 113 113 113 15.50m 2.00m 1.00m 42.80m 88.70m
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ITE4 REHKEMSRISE
BRELER
N= 1Mg
£ o
ek -<tiE H =1 = E E = E
g M
PPERE1HERIIFLUE
@20 156.9 m
PIKREFEFSFIL
$ 75 %20 6 1
PIKREFEFSFIL
¢ 50 X 20 13
PP#tF (7 1E7K$2 )
¢ 20 18 O
PPYSYNF )
20 20 3
TSHIV 4wk
b13 11 3
PPI /LR
¢ 20 21 3
EfEIEKEE
$20x13 11 3
A=\ )LD
¢ 20 10 O
=2/KaH
b13 11 3
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£ o

Rodk - <% & 7 =
HARYIR
fiZ 113
TIHRYIR
D168k 2 { =
A5
> 100
SGPHIE
40A X 4.0m 4.2 2
PPF—X
$20X%20 =

54




% i

Ak ~Tik E = B B = = E
)
RUIFLUBREMT
¢ 20 156.9 m
PPHtET
® 20 83 O
EBEEE#MFT
TS ¢13 22 O
PER &S /KIEERT T
b 75 %20 6 4B
PER &S /KIEERT T
$50x%20 1 58
IEKigRET
¢ 20 21 {ERr
EKFZET
$13 11 {&fR
Ry ABRET
20 11 {EFRr
FUHRVIREZET
H=600 (& =400) 10 Bk
MEREMAT
40A 42 m
it &R T
@ 40 42 m
HEER AR
t—0T7454 Y I=F=H 185 m
ERRT-7
W=50mm 185 m

55




% i

ek -~Ti& B g =® B H =® B
+ T
4
BT:&As ¢50LLTF H=0.60 155 155 m
5
BT:8Con ¢50LLTF H=0.60 1.0 1.0m
10
EMRCon ¢50LLF H=0.30 428 428 m
11
ERNGr ¢50LLF H=0.30 60.8 88.7 m
4-1
BTiEAs ¢ 50LLF H=0.40 20 20 m
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TTHEHE

4

L=15.5m

41

L=2.0m

5

L=1.0m

10

L=42.8m

11

L=88.7m

2 7 Fok~tik | B W=0.50m,H=0.60m| W=0.50m,H=0.40m| W=0.50m,H=0.60m| W=0.50m,H=0.30m| W=0.50m,H=0.30m *ﬁ B
BRTY E BRTY E BRTY E BRTY E BRTY E BRTY E
As
ST t=10cm=ET| m | 2.000 31.00] 2.00 4.00 35.00 35  #Ak
Co
ST t=106m=ET| m 2.000 2.00] 2.000 85.60 87.60 88
As
SHERELT t=5¢m m2 | 0.500 7.75] 050 1.00 875 9
As
SERELT t=4cm m2
Co
SERELT t=10cm m2 0.500 0.50] 0.500 21.40 21.90 22
HWMiES T m3 | 0.355 5.50 | 0.255 0.51] 0.345 0.35] 0.100 4.28] 0.150 13.31 23.95 24
AAEEIT m3
ABERBLI m2 | 0.500 7.75] 0500 1,00 | 0.500 0.50 | 0.500 21.40] 0.500 4435 75.00 75
BE
BRI 1539%%—35v | m3 | 0.075 1.16] 0.075 0.15] 0.100 0.10 141 1
F4+ | m3] 0100 1.55 0.100 0.10] 0.100 4.28] 0.150 13.31 19.24 19
i m3 | 0.127 1.97] 0.127 0.25] 0.139 0.14 2.36 2
As
FRIRAIET m3 | 0.025 0.39] 0.025 0.05 0.44 04
Co
FELRALIE T m3 0.050 0.05] 0.050 2.14 2.19 2
HIAOET m3 | 0.255 3.95| 0.255 0.51] 0.245 0.25 4,71 5
= As
SHEREIEHT t=5¢m m2
Con
SHEEET t=10cm m2 0.500 0.50] 0.500 21.40 21.90 22
= As
e REIET t=4cm__| m2 | 0.500 7.75]0.500 1.00 8.75 9
RIZRRT
BRAET t=11cm | m2 | 0.500 7.75|_0.500 1.00 8.75 9
RIZRRT
%EI t=15cm m2
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IE4 REREBEISE
RREER
BIE S N= 15
% 7
Rtk =<1k g
g M
BIEFF AR EE
@75 1
AL—F— AR EE
@75 1
BIEEEREF VM) AR EE
¢ 75 x 200L 13
DCIP s5E2% NE R EE
b5 2 0
BEFE(KEA—2—BOX)
%% MR-4L-10L(F =) 13
BEFE(KEA—2—BOX)
| Zf B MR-4-400A 13
BEFE(KEA—2—BOX)
th B2 MR-4-200BM 13
BEFE(KEA—2—BOX)
T & B MR-4-300DM 13
750 FEM B-N,SUS304
¢ 75 4 %8




% i

ek -<tiE E E E =X E
)
BT RAMERT
b 75 14m
BEFBRET
d 75 1 H
AN—FTERET
b 75 1 &
TS5V FET
¢ 75 4 0O
BEFET
1 &
BARERET
C-40t=15cm 1.400 X 0.850 = 1.190 1 m2
avyl)—+T
HlLa 18-8-40 1.400 X 0.850 X 0.050 = 0.060 0.1 m3
av9)—kIT BREFZEE
INEYTT 0.200 X 0.135 X 0.200 = 0.005
AL—F—%ZEFE
0.200 X 0.095 X 0.200 = 0.004
& = 0.009 0.01 m3
BT
HLaoy—k (1.40+0.85) X 0.05 X 2 = 0225 0.2 m2
BT BREFZEE
INEYTT 0.200 X 0.135 X 4 = 0.108
AL—F—%ZEFE
0.200 X 0.095 X 4 = 0.076
it = 0184 0.2 m2

60




£ o
ek -~Ti& it g =® H E =1 =® B
+ I W=0.90m,H=1.20m,L=1.40m

T EE 5 Eh0
ADEEIT (1.20-0.69)
090 X 140 x 051 = 0.643 1 m3
HEmEIF
- m2
ANBERT
- m3
ANBETERET
g - m3
mitiaT
AHBFEA 0.64 = 0.643 1 m3
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ITE4 SHEAREHRIE
RREER
N= 15

% 7

Rtk =<1k Ei g = B

+ T

SHEERT fR$50 {mfEK 100 ¢ 75

2550 + 550 + 14995 + 7150
¢ 50 ¢ 30 Bk
+ 4060 + 1840 + 875 5t 320.20
SHEREUET
As t=4cm = 320.200 319 m2
TERYT 32020 X 0.01 = 3.202 3 m3
REEEIE = 320.200 319 m2
BRELAST
As 32020 X 0.04 = 12.808 13 m3
BRituosT
T# = 3.202 3 m3
RET
As t=5cm = 320.200 319 m2
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H AL+ T % & 5 5 F

m349
T FE ViR NI M % W TEAR~TiE| BAhr #FOHE K ¥ =
As
1 EREEG)T T t=5cm m | 1.00 X 2 2.000
As
HIBTE] SfAEEUEL T t=5em | m2 [ 0.50 X 1.00 0.500
500
T#0 Mk ] T m3 | 0.50 X 1.01 0.505
H=0.90m el | #EL
| AJIERHIL m2 | 050 X 1.00 0.500
(22 50 AsEIEEUEL | F/ERRIAS 40 HAEIT S v—T
C T ) X Q. )
gﬁg T 110|180 ;Eilj/:j: m3 | 0.50 0.15 0.075
| MELT m3 | 0.50 X 0.50 0.250
iﬁéﬁ?y:/%_?‘/ 150
1010 M dEE] HOHE L T m3 [ 0.50 X 0.26 — 0.003 0.127
! G 0.505 —  0.250 (0.255)
1060 | AL T m3 0.505
- 500 [As
| REL HSRAST. m3 | 050 % 0.05 0.025
| AR RIAS
| EhEEE IR T t=4ecm | m2 [ 0.50 X 1.00 0.500
: 100 KR
. b BAE T t=11cm | m2 | 0.50 X 1.00 0.500
| 60  |260
! 100
|
1
ERPERR 0.06 °X 7 /4
= 0.003 m3
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H A £ T &% &

I

m¥49
T FE e AR ST ik % W TR~ k| BAAL #FOHE K ¥ =
As
2 EREEG)T T t=5cm m | 1.00 X 2 2.000
As
HIBTE] SfAEEUEL T t=5em | m2 [ 0.50 X 1.00 0.500
500
U] Mk ] T m3 | 0.50 X 0.77 0.385
H=0.60m PEHI HWEL
| AJIEHL m2 | 0.50 X 1.00 0.500
=R 50 As%%”zgﬁiﬁa&%i FAEERIAS 40 BTy T
$ 100 I 150 |HELT m3 [ 0.50 X 0.15 0.075
| pavAS L) 110 AL
- MELT m3 | 0.50 X 0.20 0.100
Y SRy 150
770 M dE] | HOHE L T m3 | 0.50 X 0.32 — 0.011 0.149
i (G 0.385 —  0.100 (0.285)
820 i 5 T m3 0.385
200 [As
| L HSHLLY T m3 [ 0.50 X 0.05 0.025
i A BRI As
\ SR IR T t=4cm | m2 [ 0.50 X 1.00 0.500
| 100 KR
i y BAE T t=11cm | m2 | 0.50 X 1.00 0.500
i 120 1320
| 100
i
ERPERR 0.12 %X 7 /4
= 0.011 m3
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H A £ T &% &

I

m49
T FE e AR ST ik % W TR~ k| BAAL #FOHE K ¥ =
As
3 EHEEG)RT T t=5cm m | 1.00 x 2 2.000
As
HIBTE] ShEERUEL T t=5em | m2 [ 0.50 X 1.00 0.500
500
U] Mk ] T m3 | 0.50 X 0.74 0.370
H=0.60m ezl HEL
| ANJIEREIL m2 | 0.50 X 1.00 0.500
=R 50 Asﬁ”zgﬁwﬁbi FAEERIAS 40 FIES Ty =T
¢ 75 i B 110|150 %iii m3 | 0.50 X 0.15 0.075
- HELT m3 [ 0.50 X 0.20 0.100
L5005 150
740 M dEE] | FOHE L T m3 [ 0.50 X 0.29 — 0.006 0.139
i G 0.370 —  0.100 (0.270)
790 . Ay T m3 0.370
| 200 [As
i RIS HFy T m3 | 0.50 X 0.05 0.025
- PR RIAS
| HEEEIR LT t=4cm | m2 [ 0.50 X 1.00 0.500
I 100 KR
i y BE T t=11em | m2 | 0.50 X 1.00 0.500
. 90 {290
|
| 100
i
BIRYERR 0.09 X 7 /4
= 0.006 m3

67




H AL+ T % & 5 5 F

m49
T & R Tk % W TR~ k| BAAL ioH K ¥ =
As
4 EREEG)T T t=5cm m | 1.00 X 2 2.000
As
HIBTE] SfAEEUEL T t=5em | m2 [ 0.50 X 1.00 0.500
500
T#0 Mk ] T m3 | 0.50 X 0.71 0.355
H=0.60m PEHI HWEL
| ANIJRHEIL m2 | 0.50 X 1.00 0.500
(22 50 As@ﬁ”z%ﬁ?i%bi PEFRIAS 40 BTGy e—=T
® 50 P 150 |HELT m3 | 0.50 X 0.15 0.075
: - 11
- HELT m3 [ 0.50 X 0.20 0.100
Lot 05005 —52 150
710 M dEE] | WL T m3 [ 0.50 X 0.26 — 0.003 0.127
i (G 0.355 —  0.100 (0.255)
760 i 7 AL T m3 0.355
200 [As
| FAETL BT m3 [ 0.50 X 0.05 0.025
. HEEEIR LT t=4cm | m2 [ 0.50 X 1.00 0.500
I 100 KR
i y BE T t=11cm | m2 | 0.50 X 1.00 0.500
i 60  |260
| 100
i
BIREERR = 0.06 %X x/4
= 0.003 m3
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H A £ T &% &

I

m49
T FE e AR ST ik % W TR~ k| BAAL #FOHE K ¥ =
As
4-1 SRR T t=5cm m |1.00 X 2 2.000
As
HIBTE] ShEERUEL T t=5em | m2 [ 0.50 X 1.00 0.500
500
U] Mk ] T m3 | 0.50 X 0.51 0.255
H=0.40m ezl HEL
: ANJIEREIL m2 | 0.50 X 1.00 0.500
=R 50 AsEMERUEL . HAERERAS 40 BTy T
® 50 [ 150 |HELT m3 | 0.50 X 0.15 0.075
LIF i BRI 110 Fryemn
- HELT m3 | 0.50 X
lmss90 v —50 150
510 G5 i e I WL T m3 [ 0.50 X 0.26 — 0.003 0.127
i (e 3 0.255 — (0.255)
560 . AV T m3 0.255
| As
i F G4y T m3 [ 0.50 X 0.05 0.025
- PR RIAS
| SR I T t=dem | m2 | 0.50 X 1.00 0.500
100 KR
i y BE T t=11em | m2 | 0.50 X 1.00 0.500
. 60  |260
[
| 100
i
BIRYERR 0.06 X 7 /4
= 0.003 m3
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HA - T & HEE

m49
T FE e AR ST ik & B TEAR~TiE| BAhr #HOHE K ¥ &
Con
5 EHEEG)RT T t=10cm | m | 1.00 X 2 2.000
Con
HIBTE] ShEERUEL T t=10cm | m2 | 0.50 X 1.00 0.500
500
U] MR E ] T m3 | 0.50 X 0.69 0.345
H=0.60m ezl HEL
- ANJIEREIL m2 | 0.50 X 1.00 0.500
(e 100 ConffiZERUE LT Conki 100|100 [EA4zr50sve—5
o 75 | HELT m3 [ 0.50 X 0.20 0.100
i A+
VHETT YTy HELT m3 | 0.50 X 0.20 0.100
| 200
690 kIR WL T m3 [ 0.50 X 0.29 — 0.006 0.139
: G 0.345 —  0.100 (0.245)
790 | Py T m3 0.345
| 200 [Con
i FAETL BT m3 [ 0.50 X 0.10 0.050
' 27—
| SHEEIEIH T t=10cm | m2 | 0.50 X 1.00 0.500
\ 100
. P
! 90 |290
: 100
I
i
BIREERR = 0.09°%X x/4
= 0.006 m3
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H AL & T %% & 3

B

= fEFT4Y
T & 2R NI IRV & B TR~ k| BAAL #F H K o=
6
b2 193]
500
U] AJJHEEIT m3 [ 0.50 X 0.82 0.410
H=0.60m PEHI HEREL
X ANJIREL m2
(E: |
¢ 100 I
| A+
i HEL T m3 | 0.50 X 0.50 0.250
820 ASHRE | WL T m3 | 050 x 032 — 0.011 0.149
i (G4 Ll 0.410 —  0.250 (0.160)
820 . 7 L4 T m3 0.410
: Frk | 500
i
100
i Y
| 120|320
|
| 100
i
ERPERR 0.12 %X 7 /4

0.011 m3
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H AL & T %% & 3

B

= fEFF 4
T & e AR ST ik & B TR~ k| BAAL #HOHE K ¥ =
7
LEBS
500
U] A JJ3EE T m3 | 050 X 1.19 0.595
H=1.00m ezl HEL
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